

Date Work Began

Date

# **Missouri Department of Transportation Contractor's Pay Estimate Summary**

Pay Estimate Created Date: May 1, 2025

Progress Es	stimate Number 3	Contract ID Prime Contractor	240816-C04 Ideker, Inc.		riod Start riod End	April 16, May 1, 2	025 Net Chang	ontract Amount e Order Amount ontract Amount	\$8,357,095.44 \$0.00 \$8,357,095.44			
Approval Date									By User			
May 2, 2025		Gene	erated and Ap	oproved (a	nd should b	e conside	red Draft) at the Pro	ject Office Level by	glassd2			
May 2, 2025		Reviewed	d and Approv	ed (and sh	ould be cor	nsidered D	raft) at the Residen	t Engineer Level by	wilsor2			
May 5, 2025			R	eviewed ar	nd Approve	d at the C	entral Office Contro	lers Office Level by	ramses1			
Original Con	npletion Date	Current Completion	n Date	Actua	l Completi	on Date	% of Cur	rent Contract Amou	unt Complete			
Novembe	er 1, 2025	November 1, 20	)25	5 4.67%								
C	ontract Informationa	l Dates	Milestones									
Date Description	Original Completion Date	Current Completion Date	Date D	Date Description		jinal ion Date	Current Completion Date	Days Remaining o Milestone	n Diary Charge Days			
Acceptance Date			Mileston Calenda	-	Septemb 2025	er 10,	September 10, 2025	12	28			
Awarded Date	September 5, 2024	September 5, 2024										
Letting Date	August 16, 2024	August 16, 2024										
Notice to Proceed Date	October 7, 2024	October 7, 2024										
Open to Traffic												

Contract Total Pay For Estimate No. 3				
	This Estimate	Previous	To Date	
240816-C04				
Total Posted Items Pa	ay \$327,183.12	\$63,457.72	\$390,640.84	
Gross Item Adjustmer	nts \$0.00	\$752,378.61	\$752,378.61	
Incentive	\$0.00	\$0.00	\$0.00	
Disincentive	\$0.00	\$0.00	\$0.00	
Liquidated Damage	\$0.00	\$0.00	\$0.00	
Other Contract Adjust	tments \$0.00	\$0.00	\$0.00	
		\$815,836.33	\$1,143,019.45	
Contract Total Payable This Estimate:	\$327,183.12			

# Items Paid This Estimate Period

April 14, 2025

April 14, 2025

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount				
JKU0072	0090	6131010	JRNISHING AND PLACING CONCRETE MATERIAL FOR FULL SQYD \$328.900 583.05 EPTH PAVEMENT REPAIR								
	0120	6131014	FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR PERIMETER AND INTERNAL SAW CUTS)	LF	\$1.550	2,625	\$4,068.75				
	0130	6131015	DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR	\$8,265.60							
	0170	6161008	ADVANCED WARNING RAIL SYSTEM	EA	\$65.000	4	\$260.00				
	0190	6161030	TYPE III MOVEABLE BARRICADE	EA	\$165.000	9	\$1,485.00				
	0220	6161055	SEQUENTIAL FLASHING WARNING LIGHT	EA	\$75.000	30	\$2,250.00				
	0240	6181000	MOBILIZATION	LS	\$476,354.470	0.25	\$119,088.62				
Project JK	KU0072 - T	otal					\$327,183.12				
Overall - T	Total						\$327,183.12				

# Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract Line Item Adjustments This Estimate

Revision 3/23/2023 Page 1 of 9



# Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: May 1, 2025

Prog				Contract ID 240816-C04 Prime Contractor Ideker, Inc.		Pay Period Start Pay Period End					58,357,095.44 50.00 58,357,095.44	
Project Number	Line No.	Item Descript	ion	Adjustment Type	Other Item Adjustment Type		Comments		Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount	
JKU0072	0130	DOWEL BAR (D FURNISH INSTALLATION) FO DEPTH PAVEMENT	IING AND OR FULL	Material					-1,136	\$8.40	(\$9,542.40)	
	0130	DOWEL BAR (E FURNISH INSTALLATION) FO DEPTH PAVEMEN	IING AND OR FULL	Material		generated Ma Adjustmer overridding Payn	nt offsets the orig terial Payment E nt (0001) due to u nent Estimate Ex ne current Payme	stimate Item user glassd1 ception 1 on	1,136	\$8.40	\$9,542.40	
Total											\$0.00	

Revision 3/23/2023 Page 2 of 9



# Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

	Contract Project Information												
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work								
JKU0072	IS-29-1 (136)	Resurface	I-29	PLATTE	from Route 273 to 0.8 mile south of Mexico City Avenue in Platte City								

# | Totals by Job Numbers | South Job Numbers | Totals by Job Numbers | South Job Numbers | South Job Numbers | Totals by Job Numbers | South Job Numbers | Sout

Revision 3/23/2023 Page 3 of 9



# Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

**Exceptions (Discrepancies) This Estimate Period** 

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project JKU0072, Item 6131015, Project Item Line Number 0130, Material Set 613101596, Material 1057JMDBEC6.10 - Dowel Bar Epoxy Ctd Gr60 1" @, Acceptance Action Generic ReinforcingMisc is insufficient.	Waiting on materials for PAL sample record	glassd2	Overridden

Revision 3/23/2023 Page 4 of 9



# Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

ote: Posted Qi	uantities	and value	es are b	ased on R	eport Generated date and can differ from the posted amo	unt at the i	ime the Est	imate was	Jenerale	au.		
Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
40816-C04	JKU0072	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.00	\$99,000.00	\$0.00
		0001	0020	2153000	SHAPING SLOPES, CLASS III	17.00	0.00	17.00	100F	0.00	\$1,050.00	\$0.00
		0001	0030	3049910	MISC.PERMAMENT AGGREGATE EDGE TREATMENT	7,832.80	0.00	7,832.80	TONS	0.00	\$30.77	\$0.00
		0001	0040	3101003	GRAVEL (A)	2,987.00	0.00	2,987.00	SQYD	0.00	\$5.63	\$0.00
		0001	0050	4011209	9 BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)		0.00	8,528.80	TONS	0.00	\$80.09	\$0.00
		0001	0060	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	911.40	0.00	911.40	TONS	0.00	\$101.89	\$0.00
		0001	0070	4030132	ASPHALTIC CONCRETE MIXTURE PG 76-22 (SP125BSM MIX)	35,754.30	-35,754.30	0.00	TONS	0.00	\$113.02	\$0.00
		0001	0080	4071007	TACK COAT - NON-TRACKING	41,765.00	0.00	41,765.00	GAL	0.00	\$4.58	\$0.00
		0001	0090	6131010	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	948.70	0.00	948.70	SQYD	683.03	\$328.90	\$224,648.57
		0001	0100	6131012	SUBGRADE COMPACTION (6 IN. DEPTH) (PAVEMENT REPAIR)	95.00	0.00	95.00	SQYD	0.00	\$1.00	\$0.00
		0001	0110	6131013	TYPE 1 OR 5 AGGREGATE FOR BASE (4 IN. THICK)	95.00	0.00	95.00	SQYD	0.00	\$1.00	\$0.00
			0120	6131014	(PAVEMENT REPAIR) FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR PERIMETER	3,990.00	0.00	3,990.00	LF	3,075.00	\$1.55	\$4,766.25
		0001			AND INTERNAL SAW CUTS)							
		0001 0140 6133020			DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR	2,549.00	0.00	2,549.00	EA	1,136.00	\$8.40	\$9,542.40
					FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	247.00	0.00	247.00	TONS	0.00	\$577.55	\$0.00
		0001	0150	6133021	REMOVAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	1,493.90	0.00	1,493.90	SQYD	0.00	\$109.15	\$0.00
		0001	0160	6161005	CONSTRUCTION SIGNS	1,342.00	0.00	1,342.00	SQFT	0.00	\$7.00	\$0.00
		0001	0170	6161008	ADVANCED WARNING RAIL SYSTEM	4.00	0.00	4.00	EA	4.00	\$65.00	\$260.00
		0001	0180	6161025	CHANNELIZER (TRIM LINE)	200.00	0.00	200.00	EA	100.00	\$18.00	\$1,800.00
		0001	0190	6161030	TYPE III MOVEABLE BARRICADE	16.00	0.00	16.00	EA	9.00	\$165.00	\$1,485.00
		0001	0200	6161033	DIRECTIONAL INDICATOR BARRICADE	30.00	0.00	30.00	EA	30.00	\$85.00	\$2,550.00
		0001 0210 6161040			FLASHING ARROW PANEL	2.00	0.00	2.00	EA	2.00	\$2,750.00	\$5,500.00
		0001	0220	6161055	SEQUENTIAL FLASHING WARNING LIGHT	30.00	0.00	30.00	EA	30.00	\$75.00	\$2,250.00
		0001	0230	6161099	CHANGEABLE MESSAGE SIGN WITH COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	5.00	0.00	5.00	EA	5.00	\$3,750.00	\$18,750.00
		0001	0240	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.25	\$476,354.47	\$119,088.62
		0001	0250	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	2.00	0.00	2.00	EA	0.00	\$325.00	\$0.00
		0001	0260	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	116,106.00	0.00	116,106.00	LF	0.00	\$0.26	\$0.00
		0001	0270	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT. TYPE L BEADS	87,967.00	0.00	87,967.00	LF	0.00	\$0.26	\$0.00
		0001	0280	6205906A	12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT. TYPE L BEADS	17,132.00	0.00	17,132.00	LF	0.00	\$0.52	\$0.00
		0001	0290	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT TYPE P BEADS	4,623.00	0.00	4,623.00	LF	0.00	\$0.16	\$0.00
		0001	0300	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	11,048.00	0.00	11,048.00	LF	0.00	\$0.16	\$0.00
		0001	0310	6206108A	8 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING	135.00	0.00	135.00	LF	0.00	\$0.16	\$0.00
		0001	0320	6221001	PAINT, TYPE P BEADS  COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	5,569.00	0.00	5,569.00	SQYD	0.00	\$16.16	\$0.00
		0001	0330	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	18,118.00	0.00	18,118.00	SQYD	0.00	\$20.74	\$0.00
		0001	0340	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	1,304.40	0.00	1,304.40	STA	0.00	\$15.49	\$0.00
		0002	0350	6252001	UNDERSEALING MATERIAL HIGH DENSITY POLYURETHANE	262,467.00	0.00	262,467.00	LB	0.00	\$3.20	\$0.00
		0010	0370	6061060	MGS GUARDRAIL	6,263.00	0.00	6,263.00	LF	0.00	\$20.50	\$0.00
		0010	0380	6061061	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	5,513.00	0.00	5,513.00	LF	0.00	\$24.50	\$0.00
		0010	0390	6061065	MGS GUARDRAIL, 6 FT. POSTS, 1 FT 6.75 IN. SPACING	175.00	0.00	175.00	LF	0.00	\$50.00	\$0.00
		0010	0400	6061069	MGS BRIDGE APPROACH TRANSITION SECTION	4.00	0.00	4.00	EA	0.00	\$3,000.00	\$0.00
		0010	0410	6061070	(REGULAR/NO CURB) MGS VERTICAL CONCRETE BARRIER TRANSITION	18.00	0.00	18.00	EA	0.00	\$2,750.00	\$0.00
		0010	0420	6061080	MGS END ANCHOR	18.00	0.00	18.00	EA	0.00	\$1,050.00	\$0.00
		0010	0430	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	22.00	0.00	22.00	EA	0.00	\$2,900.00	\$0.00
					` '							

Revision 3/23/2023 Page 5 of 9



# Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

## Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Note. Posted Q	uanililes a	and value	s are ba	ased on Re	eport Generaled date and can dilier from the posted amo	uni ai ine i	ime me Es	umate was t	<b>Jenerali</b>	ea.		
Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
240816-C04	Project JK	roject JKU0072 - Total Value Posted to Date as of Report Generated Date									\$390,640.83	
240816-C04 Ove	240816-C04 Overall - Total Value Posted to Date as of Report Generated Date										\$390,640.83	

Revision 3/23/2023 Page 6 of 9



# Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

# $\underline{\textbf{The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.}$

Project: JKU0072

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0090	6131010	FURN & PLACE CONC MATL FOR FULL DEPTH	4/15/25	4/17/25	91.33	SQYD	129SB	108.540		109.825		
			4/16/25	4/17/25	95.89	SQYD	190.394 I29SB to 19.737 I29NB including Mexico Ave to I29SB and I29NB to Mexico Ave	190.394		19.737		
			4/17/25	4/24/25	98.67	SQYD	129NB	18.943		20.921		
			4/21/25	4/25/25	99.89	SQYD	Lane 2 I29NB and HH	23.944		24.304		
			4/22/25	4/25/25	109.59	SQYD	HH and I29SB to HH offramp	0.132		0.092		
			4/25/25	5/1/25	87.68	SQYD	MO92 to I29NB on ramp	0.027		0.137		
0120	6131014	FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR	4/15/25	4/17/25	411.00	LF	129SB	108.540		109.825		
			4/16/25	4/17/25	432.00	LF	190.394 I29SB to 19.737 I29NB including Mexico Ave to I29SB and I29NB to Mexico Ave	190.394		19.737		
			4/17/25	4/24/25	444.00	LF	129NB	18.943		20.921		
			4/21/25	4/25/25	450.00	LF	Lane 2 I29NB and HH	23.944		24.304		
			4/22/25	4/25/25	493.00	LF	HH and I29SB to HH offramp	0.132		0.092		
			4/25/25	5/1/25	395.00	LF	MO92 to I29NB on ramp	0.027		0.137		
0130	6131015	DOWEL BAR (DRILLING, FURNISHING AND INST	4/15/25	4/17/25	140.00	EA	129SB	108.721		109.825		
			4/16/25	4/17/25	190.00	EA	190.394 I29SB to 19.737 I29NB including Mexico Ave to I29SB and I29NB to Mexico Ave	109.394		19.737		
			4/17/25	4/24/25	202.00	EA	129NB	18.943		20.921		
			4/21/25	4/25/25	132.00	EA	Lane 2 I29NB and HH	23.944		24.304		
			4/22/25	4/25/25	126.00	EA	HH and I29SB to HH offramp	0.132		0.092		
			4/25/25	5/1/25	194.00	EA	MO92 to I29NB on ramp	0.027		0.137		
0170	6161008	ADVANCED WARNING RAIL SYSTEM	4/17/25	4/24/25	4.00	EA		18.5				
0190	6161030	TYPE III MOVEABLE BARRICADE	4/17/25	4/24/25	9.00	EA	Used at ramp closures	19.000		21.000		
0220	6161055	SEQUENTIAL FLASHING WARNING LIGHT	4/17/25	4/24/25	30.00	EA	On DIBs at tapers	18.898		21.000		
0240	6181000	MOBILIZATION	5/1/25	5/1/25	0.25	LS	Project wide					Paying first 25% per section 618.2

The information below this line are details for Construction Signs (if applicable).

No Data Available

Revision 3/23/2023 Page 7 of 9





# Line Item Adjustments by Estimate

Contract ID: 240816-C04

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks									
JKU0072	KU0072 0090	FURN & PLACE CONC MATL FOR FULL DEPTH	Material		2	Apr 16, 2025	SYSTEM	\$32,883.42	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user glassd1 overridding Payment Estimate Exception 1 on the current Payment Estimate.									
		FOLL DEFIN			2	Apr 16, 2025	SYSTEM	(\$32,883.42)										
				- Total				\$0.00										
			Material - To	tal				\$0.00										
	0090 -	Total						\$0.00										
	0130	DOWEL BAR (DRILLING, FURNISHING AND INST	Material		2	Apr 16, 2025	SYSTEM	\$1,276.80	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user glassd1 overridding Payment Estimate Exception 2 on the current Payment Estimate.									
		AIND INST												2	Apr 16, 2025	SYSTEM	(\$1,276.80)	
					3	May 1, 2025	SYSTEM	\$9,542.40	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user glassd1 overridding Payment Estimate Exception 1 on the current Payment Estimate.									
					3	May 1, 2025	SYSTEM	(\$9,542.40)										
				- Total				\$0.00										
			Material - To	tal				\$0.00										
	0130 -	Total						\$0.00										
	0180	CHANNELIZER (TRIM LINE)	Material		2	Apr 16, 2025	SYSTEM	\$1,800.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user glassd1 overridding Payment Estimate Exception 4 on the current Payment Estimate.									
					2	Apr 16, 2025	SYSTEM	(\$1,800.00)										
				- Total				\$0.00										
			Material - To	tal				\$0.00										
	0180 -	Total						\$0.00										
	5001	MIXTURE PG	Construction Stockpile STMI		1	Nov 1, 2024	SYSTEM	\$752,378.61	Payment Estimate Item Adjustment generated Stockpile Transaction									
		76-22 (SP095BSM)	STIVII	- Total				\$752,378.61										
			Construction	Stockpile S	TMI - Total			\$752,378.61										
	5001 -	Total						\$752,378.61										
JKU0072	- Total							\$752,378.61										
	Γotal							\$752,378.61										

# MoDOT

# Contract Adjustments for Contract - 240816-C04

There are no contract adjustments to display for this contract.

Revision 3/23/2023 Page 9 of 9